(Parallelogram Saw Fence

ﬁ

Habhitat
Fr Hammnity

7/20/15

JRLee

| Scale: 1%" = 1-0" |

Material and Cut List

1lpc 3" x 4' x 10" Cabinet Grade Plywood
1pc 4x8 ¥" AC Plywood; 6 - 8' 2x4's;

1 - 3" x 48" Hardwood fence; 6 — 3/8" Pipe Bushings
10 — 3/8" x 2" Carriage bolts; 6 - 3/8" Lock Nuts

8 — 3/8" Nylon Washers; 4 — 3/8" Fender Washers

2 — 3/8" wing nuts; 10 — Rockler T Nuts #68387;

2 — Rockler Star Knobs; Assorted Screws.

4 x 8 x ¥4" exterior grade
plywood. 2x4 stiffeners
as needed. Support with

)

JI0

Star Knob with 3/8 bolt used as a
hold down. (Rockler 23853).

@

Cut out for
hand hold

4x4 legs =
g &

N
é

Dewalt 10" Portable Table

Saw Model DWE7480.

Support with hardwood

ledges front and back. ®

Remove fence.

3/8" Slot, made on
router table. Cut to fit
extremes of motion

%" Fence, use hardwood. Attached with
recessed head screws.

Storage
for hold
down bolts

/

Fender Washer, attached w/ screws

Bushing - 3/8" ID x %2 OD.
Make by drilling out a 3/8"
brass close pipe nipple inserted
into a ¥2" hole drilled in wood.

Screw on TeeNut.
See below for detail.

3/8 Wing Nut

3/8" Large Fender
Washer

3/8" Carriage Bolt. Recess

S

3/8" lock nut

3/8" Nylon
Washer

Bushing, 3/8" ID x ¥2
OD. Pipe tap to thread.
Use where wood to
metal motion occurs.

head and epoxy in place.
\\
)
S ——
— \

\{ 3/8" Nylon Washer

Recess w/ 1% Forstner Bit to
below table surface. Space at
7Y4". Eight (8) required for the
project. Parallel placement is
critical!

Screw on TeeNut, Rockler 68387.




